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1. gfean S fdw e 3§ feg ¥7?

India Gate is located in which city?

(A) 9=ig/Mumbai

(B) J"RI/Agra

(C) VY Jaipur

(D) faweli/Delhi

. (D) s 912, IR & I9EF T8
et & o9y ) Rem 42 Aiex
Fd1 $R 9.1 Hiex el Yg WG
e g1 10 B, 1921 9 SYH
3 FAle A S I & A =
o, gwe eTeae wef st
=1 e famm o, 12 B, 1931 1
TE TAHT AN G AT | gfvean T
T feues w9 % IR # Rem
SHTeh—Sl—gATHG & A B |

. T H 9 o e & e S e
oo &7

In which of the following cities is Indian
Military Academy located?

(A) <e1g/Dehradun

(B) YUi/Pune

(C) T&eel/Delhi

(D) TTYY/Nagpur

. (A) TR ¥ I (IMA) 78 B
wfTemT fmr W, 7E 1 ST,
1932 1 40 THF H3¢) Tail & e
Al g |

. ARG WRER I fhd 76T uv e &7

Sardar Sarovar Projectis located on which
river?

{A) TT/Ganga

(B) Ti=a¥/Godhavari
{C) @M/ kosi

(D) "F&/Narmada

. (D) &R |3EY 9% B g9 99
TG TG S | T8 - T8 9% 4 138
Hex S (19 Jied 163 Hex) 3’
1210 WeX ot siy &, 5 a1,

(&1 U9H-UA)

1961 @ ARG & WIH FETHASN
Tfied STaTes el Wew © 59 ATl
ol T foma e

. 9 T QR gda DE war E gl

Hareq qda 9 &7

Which of the following mountain peak is
the second highest mountain peak of the
world?

(A) T 989/ Ganga Parvat

(B) a1 gdl/Nanda Devi

(C) wa-Terdr/kanchanjunga

(D) &2/ K2

. (D) & 2 (K2) 993 a9 9 8,611 AieY

(28,251 WIE) HUT HNE VaRT
(8,849 ¥iE¥ 29,032 i) & 9= g2AT
T U 9N 39 W9 ¢ 4%
BRIBIRT Vol H Red & 59 &< db
Tfeege  TEMYT SR @
Tt -arfece &5 % 9k FThN
& & de—yaniyd &= § il
T TR P W I |

5. A Ty @ Ree weenfie far?

Who was the founder of Maurya
Empire ?

(A) 937 A” /Chandra Gupt Maurya
(B) &= /Ashoka

(C) fidga/Bindusar

(D) el 9%/ Harish Chandra

. (A) A I (322-185 $1 IE) W

WIRA &l Ueh Fferaenet’ X9l &,
AR} a7 137 99 9RT F I
T | ST T 1 211 Tl
Hid AN g w5l A (difeen)
= foan S ¥ 1 7E T @ A
TR T /I AT % FEET (/s
@l 48R Ud diTTet) 9 o ol | gHeal
RTSTETT HTEfTgE 37T aRiA T
e & e 9|

. o X foe B e &7

In which country is the Thar Deseust
Located ?

(A) iferan/Mangolia
(B) ~TaTe1/Nepal
() dfse/Egypt
(D) ¥~</India

glen fafdr : 1/1/2020

. (D) R XA fdvg o 17 9f wad 97

Toeel ¥ SX 9df ey g9 TRA
SUThCE-8T Howerd & | oY &l
85% WM WRG AR 15% 4T
MG = ¥ | 9= 60% 9 Afew
AT el X W Sl g AR
Howelel adell Uals! & fdgdl
b ow Rer &1

L =1 @ B HEE el @ fiaar 97

‘Who among the following was the father
of King Ashoka?

(A) W%/ Virbhadra
(B) 9 ¥r4/Chandra Bhan

(C) T9g¥R/Bindusaar

(D) dg T/ Chandra Gupt

. (C) Rger AW woee & v 9, 98

HEH HR wuTe sl & fia 9=
g W b g A, Rgur @
siffrrer 0 el i g, g @
WM 2989 2725, o |

T A ¥ 5w <9 1 s e @ e

0 T 57
‘Which country is known as the Land of
Thousand Lakes?

(A) aMEwers/leeland
(B) ?’ﬁ?’\ﬁa’/New Zealand
(C) fFTeis/Finland
(D) @rRers/Ireland

. (©) X fowg W foedts @ diell @1

TSI & 4400 T T, 3 drarper
A g8 2, vigad Fa T 6 qe
T4 $iiet B | et # 187,888 &t
TiRa el &, S & 9 & 500
Hex | e w1 &5 8| 5 e |
N T 57,000 T &= 10,000
e 3 aftep Bl

. fe=e T =€ & e X fReg &7

Delhi is located on the banks of which
nver?

(A) T/ Yamuna
(B) H¥g/Sarayu

(C) T/ Gomati
(D) e/ Gandak

= | 7



9.

(A) anfErepiRe dR Ux ey IR
& faoell ¥Ra & WU 9 9h
bo—eiid YW Bl 1483 i
TepaniieT 7 Bal feeT s &
T Ov ARG B AN e der
TR &, el o1 ST ST 1
TS 70 A & 1 I8 TYAT T4l & <IC
TN fRerg &1

10. T3 3§ S “9Ra & ol oy’ & 4m 8§

10.

11'

11.

12,

W A 9 E?

Who among the following is also known
as the “Iron Man of India’?

(A) T ¥BIGT IMEAT/Lal Bahadur
Shastri

(B) HEeAT e/ Mahatma Gandhi

() Hfienet Ha%/Motilal Nehru

(D) RN "o/ Sardar Patel

(D) ¥RER Toel &1 IR =19 ded¥ I8

TERME U o1, a6 wH

31 &rergER, 1875 B Afedrs, 9w g

RIS, fafewr 9RT # gan o, 59

W foe @ I e fegw &

WY H AT S &, gl HNd NeT

Bl FHIE 1991 # 9RuluRig fear 1

off | RER 9ee = A 1931 ¥ 9™

IS BT B w6

e B | I TE g @

TR TR W T & o |

- TERT, I & I

.......... is the state capital of Maharashtra.

(A) H9%/Mumbai

(B) gelerars/ Allahabad

(C) e %/ Lucknow

(D) faeetl/Delhi

(A) F9E WG & F99 g9 T A
ST B, W "B ¥y B & UE
MR T T AN TS W N =R
=T 39 g § e e ¥, g
@B 1995 ¥ g et oR X
TH 99 o Wl & 95 H ggaay
TR B (AT T, Yrelg <l &
4355 <t forril. & | arefq weRIsg
A TS B |

“TAIp T ] B 94 S fehaT e

EYd

How are the members of ‘Lok Sabha’
elected?

(A) IO wY ¥ feffag/Indirectly

elected

(B) ¥rer A gR1 A/ Directly
elected by People

8 | AGRAWAL =XAMCART

12.

(C) sfdrep aifas wa snferes wrfea/
Partly elected and partly nominated
(D) THifea feram e &/ Nominated

(C) SATFHHH F1 qUIT STT=0s 81, oo
331 7 fe & e & el
B HLehdH HA 552 2T B | g
¥ 530 I <Al ¥ et g9
20 ¥ Fes Ry v A etk
A AR 2 Ay AT &
¥, orfe 39 YR 9 $HS Wad) 9l
T aRrE fEiRe va anfde
il il ¢ | el =gAdE 8y
25 98 TN AIfeY, 9 PR S
9 T BIT &, THEH] B TEIET Bl
T TS A gRI R 9T
T HIRET H W SIHEHT @1 76T 17
arter 1952 = foan T o T 59
TEel aTedeT il A1 Aaey o |

13. ARG B TG g5 USIferad R w8l

13.

14.

14.

feerg &7

Where is the largest Petroleum Refinery
of India situated?

(A) 9wg/Mumbai

(B) fo=mEmTee-/Visakhapatnam

(C) WA/ Jarmmagar

(D) f&mETE/Digboi

(C) oG & SN H RS &7 989
TS Fwe % | 98 7500 THS TR
el g2 B Remea srew g9
Rz & #ifere ¥ | rerer feeid
T MY TR (BT F7 e
g w1 fafdes gmr 190, §
ferdrs | wenfog fear o e, ¥
TR & o R @ T 9T A
TR vt R &

HHISTE JawIge BEgd <l (HHiur fdwm

fepa =7

Who Created the ‘Social Website

Facebook’?

(A) ga< fo™/Sunder Pichai

(B) U9 TIl/Ratan Tata

(C) #e gJeeail/Mark Zuckerberg

(D) TEA §¢1/Graham Bell

(C) HIF FT MTSHIT 2004 Fo =M |
S B JEAed Tgdd ol
e & doimpI=ar # Rem w,
YD D el I DT BN Pl BRI
B E, G b e o Rl | i s e
AR 7, 9 aY sl et 304 aiiw
TR T TR T, S TEeA A
Andrew Mecupllum &1 TS
e T o |

15. EEN & 969 g9 g9 -

The largest island in the world is ...... .
(A) Frermeey/Madagascar

(B) #eie/Greenland

(C) a1/ Java

(D) gar/Cuba

. (B) ¥Fcie g1u g o waw g1 g9

¥, o el SN sreetiied ARy
& d9 Rerd g 199 1979 § S9HIE o
Fels B W@ SN B fRar
&’ 2008 ¥ Tiels -1 ¥&Fg ¥R
3t gaEr BTNl & e H
7 faar, sad are & 3w wmd
AXHIY darer el Ae, e &R
amfeies ~fifd 7 & Gife w s |

-2

A fasm=

Largest gland in the human body is

(A)‘Jﬁjf/ Kidney  (B) dgd/Liver
(C) gS9/Heart (D) BWsl/Lung

. (B) ¥IM9 ¥NIX @) WEW 9e) Uiy g

T g R e G e &,
T 3 URSS a1, TSN erer— 9
T @ Bl g & we e @ T
NS ST ST E | I8 J19 IR H
e 3§ =l SR o d H SEwH
& A1 Read A B, Adpd T |
TH B B BT T FERESC &
€5 B @ 99 # IRakid &R adl
¥, Y&d B A 9 @ e T8
AT TIEH TN H Homel Sl
gl

. YIS P HAFD b UY, G

feam &

When a moving train stops suddenly, a
man tends to fall .......... .

(A) ¥ &1 §R/Downwards
(B) SR & SR/ Upward
(C) WIS o &fe/Backward
(D) P %I 3R/Forward

17. (D) el g XelIEl U 3 sidb i+

TR O B I A I B
TG & T & U Fen ISy @
T E fRTHERR | &1 IR E, TR
AT & TR B HUR B A0 T &
Sgd & BNUl ZE] 9 W AT el
HI e ol AR BRel &, 991 PR
W AR HOIER &M A AR gF
e B |



18.

18.

19.

et e T 2 %7

Rabies is caused by ?

(A) WgvI/Polution

(B) g®a wroiH/Unhygienic food
(C) | & =Ie7/Dog bite

(D) T 9/ Contarmnated water

() I T 9 & = 6 Y T
ek B I e PR L) S R
TgI & AR H e & HR 99 Bl
Jgfi 98] Ag P @Ie oldl & ¥
ELL R MR R E N IET |Gl
% | W T STl gl & HIe 9
20 37 51 o 10 T8 &M< ve
B P WA =N T UE Fa
RSB T T YIS Yl & |

Foll 1 Wi Wi g

Natural source of energyis ........ .

{A) TroTell/Electricity

(B) ®NUI/Friction

(C) F8/Battery

21.

21.

e 4 9 - Y wduE w7

Which of the following is “‘Universal

Recipient” of Blood?

(A) B+ (B) O+

(C) AB+ (D) A+

(C) TIEY AB + Y@ B WEHIFE
ford @i & o9 7% & % 9% fer
AT UPR &7 e W<l Y ahal ¥ |
REI ‘AR’ & wieHl H WIdeer &
T BT B 9 ST P Vo @
1ol I wiefdhar o~ I8 2T, 59
Ve HHg B W W 1901 A
UEEY A A A | U 99 AP
T T w7 ST AT 05-06 Ty
BN 8| wfgemsh g & gl
1/2 ofle< Yo &4 idl 8| Y @l
e BT ANET 60 WIS B g,
AT W 90 TRIEM T e,
07 Hioed W&, 0.9 yfaed agor

HFOS F 6.24 x 107 o & T
$§%ﬁﬁiu’a’wmmlwﬂﬂ?
|

24, &R TN 3 Y a0 e §7

24.

In our body Ligaments connect ?

(A) AU ¥ TS F/Muscle to Bone

(B) #E0El ¥ AEUEY 1/ Muscle to
Muscle

(C) T ¥ wRET @I/ Muscle to Skin

(D) &se ¥ &Sl ®l/Bone to Bone

(D) AE TRR | T 5391 ¥ 538l B
Sirgd &1 ¥y &1 Gl WAl /9
TR A 000 F, R wmmTe #
600 T, Aeg IRIX A 230 Fg 21
HEFT A1 WA & HUY 70 T
B ¥ | ER O e @ i (1)
YSTHEdl R (2) 957 WY (3) g2rel
TG (4) YR FZ | g 4T <
B BRI TR G5 Y1 B, G SR
TR TR AT a9 9o A 999 8
&l

25, T T4 TS & AR B S

(D) <F/Sun T 0.1 yicrTd AT Tt e & | 5
19. (D) ¥ SS9l F1 WS 9 weHlas 9 22 e PSR T A ferd fop The compounds of carban and Hydrogen
¥, I8 T A =Ry e wE e o _ are called ?
o e ) e T T Seismograph is used to measure ? (A) #Th¥I/ Sugar
foremTe e ¥, T ) e ot e (A) weE/Blood Pressure (B) <lelelgged/Carbohydrates
75000 x 10181%@—;325[1113(@5 (B) 9@™/Earth Quake (&)} gséiﬁéﬂ/Hydrocarl?ons
W 8 yed R gl (C) %=4 TRY/Heart Beat (D) wredfeep Ai¥en/Organic Compounds
AT B O B e ¥ | 8 (D) e o1 = were/Flow of Current 2. (C) P $i¥ E@lorT & AR 31
Tl % O figm A wRafa & 22, (B) NRERTE U0 & UF 9Ed & WIS gESImEe Fed ¥1 g (CH,)
1 el W wa wEard 3, T s Ry ¥ e e A U SR A g &
Ao ZaEie A e 1954 % sl B aren SuE €I (C,H) WIS (C H,) onf g
ST R S S 1% AR Sl ngmzk SHHWH;' izﬂﬁi'aﬁlj:zﬁz‘g
&1 fagd # uiRakia o= Aqd ol NEa| ERCaa 2 _
20. HISHIR Dl BSellge H Si-4 Ul bl g @ W e aredl St @ war iﬂ#mﬂﬁﬁﬁmwﬁﬁmﬁ
R IR &, S99 G el e ¥ . Slere
s - W AT g AT B
Which mirror is used in headlights of car? o, o e o1 W+ RS wqw %) o & 9
(A) ST/ Convex feeT, 0 @ ST T T PR S 4 3 T R (o)
(B) IR/ Plane %;:;[%ﬂ:ddﬁlﬂ g F9 | HEg e 4 (O)E'I?fﬁlﬁlﬂ;
(C) @rgde/Concave " s ¥
(D) e/ Black 23, g 7 O S T o 7 26. €S @ wenbe Ry B
20. (C) erdaal U I7 ST SAFHHRT ST The ST umt of clectric currect 1s ? The chemical symbol of sodium is..... .
& w9 & I W Tl v wed (&) e/ Watt (A) Nu (B) So
FOE AN L, O R A AN AN (B) ~[et/Joule (©) Na (D) Sd
T I BT ST R TN ESATE (C) e/ Coulomb 26. (C) HifeT T MANE 9F &, SAH
@ %o ¥ T T & iR A sraae (D) i/ Ampere IR R Nas | 772 3 |
o AT T TP B E sad 23, (D) R o @ AT T, o, & Yo g B U a9 ' e
o P TETa § el Yl @ HR 31T THAR BT A ¥ Pl g # g e &, 35S e
B 9 % SEd & waH @ O § gmﬂmaﬁﬁ@ ﬁﬁfwwﬁm (G T 23)
BAoTehel B (42 arenl 4 <Y | G a9l & ydw & Wy . :
YdelaThY SUON bl YT febar i ﬁqﬁﬂﬁﬂﬁg’;{ﬁb‘mw%l_mﬁ?@r (greas= | 21, 22, 24, 24) =i
& | 98 Y& fIgg o & v uise 9 e ¥
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27. diadige frd o1q @ s 87

27.

28.

28.

29.

29.

30.

10

Bauxite is an ore of which metal?

{A) IFT/Gald

(B) weyfias/Aluminium

(C) dfa1/Copper

(D) T&1/Tin

(B) €TeraTge Ueh Hlfedeh Winwl & ShAIge

HUwR g W vegMiem
ik i # [dienge O geyffm
I e = %, fiww F g @
TieFATgE SeaTa A 5ai W &, TNE
o9 A efifgm g diddse &
WIHRIE HUS AR Ial= T |
e VI R ¥ | ST i
Wi gare 9 & 9291 | T
F I W g

HeRR® st 7

Sulphuric Acid is..... .

(A) HNO, (B) H,S0,

(C) HC (D) HSO4

(B) AeWgRe 3= @1 Hield G
98.079 I /A1eT B & | T # O
W 9l Wewss @t @
ATFEIRYT W W E I T
T 3T T o WFae o & el
&, Wi Aedyfi o Yg Faver d
A1 2 1 98 V8 59 & wU § umy
T &, AR Reh #fvel bl e <l
ot ol Ed ® SHE HA AT
1.84 71T 1 vt B & | 597t 1,80,
W feran ST &

1 F | T TS o BN 7

What among the following is reason for

Heart-attack?

(A) ¥ g{¥aT/Blood Urea

{(B) ¥&d Wér/Blood Protein

(C) BreRglel/Cholestarol

(D) e A1/ Blood Sugar

(C) FTeregIel TNIT &1 Y PHILRERT 3 IR
T AT TEN A ST § | Afew
T H 994 U U8 1S H Plegd
I 9 aaT & SN Yo Afererat |
B Tl & iR PR ared R
T oo 0 SR S s g SR
zl

eMIeT § HE-A1 ga1el JERT B 57

Which substance is used in Thermometer?

(A) Te/0il (B) U1/ Water

(C) <har/Iron (D) 9T/ Mercury

| AGRAWAL=XAMCART

30.

31.

31.

32.

(D) ericy 3 IRT o7 Bl 8, T8 T
T UG R W WE A0 TR a¥e
e F X E, YN B SuIAT
HHATER H B & Sl SHIR GER Bl
191 < hIH I E, eFHTAIER bl UIRT
SR Terell 9 90 Sy g8 W e
W & <1 98 T2 H 9 & s
TR—€R g 9T SF5aT B o=
Ecasuill

A3

Tfora

T A B FATE SHIER $Y Ader Ear
FHFE TRAM T T T

Find the Perimeter of a rectangle whose
sides are 5 meter and 4 meter.

(A) 209ET/20 meter
(B) 18 #eY/18 meter
(C) 16 7CY/16 meter
(D) 12 91e3/12 meter

(B) fem & [=5%.
b =47,
T AT BT URAT =2 (/+ b)
=2(5+4)
=2x9
=189
frrferfias = &1 FX |
Solve the following.
42 -2(25+16 +4x3-4xH+5=27
(&) -5 (B) 4
Q@ —4 (D) 5

32.(D)42 225+ 16+ 4x3—4x4)+5

33.

33

=42-2(25+4%3-16)+ 5
=42 -2|25+12-16] + 5
=42 -2[37-16] +5
=42 - 42+5
=5
Tl TS TSI & A TAEd®
(LCM) 3R #go™ wH9adad (HCE) @
UFTFE 72 % AR 7 Awal 7 6 9 Y
¥ | Femalt @1 g g P
The product of the LCM and HCF of two

positive numbers is 72 and the difference
between these numbers is 6. The sum of
the numbers is :

(A) 6 (B) 12
(C) 18 (D) 24
(C)  AxB=LCM x HCF
(471 )
AB =72 (D
iR
A-B=6 2

34.

34.

3s5.

35.

J6.

. (A+B)=(A-B)’+4AB
A+B=6)+4x72
= 36+ 288
= V324

=18
Tr=ferfiad & zat w1
Solve the following :

236—3.05+433="
(B) 3.34
(D) 3.33

(A) 3.64
(C) 3.34

(A) 236—305+433

+
99 99 99

= (2—3+4)(£—i+ E]
99 29 39

=3+ ﬁ
99

=3. 64
v Rerfd 5 wAged 99 U e @
forw wwal 2270, 3739 3N 6677 &
faferfiad & fod 9 4 9 Hea ¥
fawfora fepar s =ifew ?
By which of the following largest number
should 2270, 3739 and 6677 be divided to
obtain the same remainder in each case ?
(A) 1459 (B) 1469
(C) 1479 (D) 1489
{(B) 2270 =1 = 1469 + 801

3739=2 % 1469 + 801

6677=4 = 1469 + 801

3 IS HEAT = 1469
A =, faema | 20% aferm s arfsta

AT E, O e g it ey I BN
afsta s & g # fram ufoea &= &
?

If Raju earns 20% more than Vijay, by
what percentage is Vijay’s earning less
than that of Raju ?

50
A) 25% (B) =%
( 3
40 20,
© <% D) 5%
e i 2 100%
= 0
o () 100 + 20
= EXIUU%
120
_ 0y,
3



37. T A, 1 Aage fHdane 5T 45%

37.

38.

38.

@ el ST U S TR 1A veet fghdr
9 25% % | IR <1 &1, a1 gaR fde
7 faae wider ey ure foear 2

A mobile was sold by two mobile sellers
at a total gain of 45%. If the first seller
sold it at a gain of 25%, then how much
gain percentage did the second seller
achieve ?

(A) 20%

(Cy 16%

(C) el " = 45%

(B) 18%
(D) 14%

xy
x+yt+t— =45

100
25y
254+ y+—— =
yrs =45
5
Ty:zowy:lé%

T e 3] g e 0 el @
24 131 ¥ ger @ wend &1 af, s 6
fa faar srbel Bl Bvar & dF d 26
o=l 1 w2 AR B A srael e
A el @I Sed § 7
A father and son working together can
finish a piece of work in 24 days. If;, for
the last 6 days, the father alone works,
then the work is finished in 26 days. In
how many days can the son alone finish
the work ?
(AT72 (B) 70
(C) 68 (D) 66
(A) -+ U &R o3 5 o 3
T 5 =241 F
Tfe B FAT 2§ = 26 R
c @R 6 fiF aa i | et
T e | st fiar &ie ga = ey
20 &= @M T |

-, T @ir = &7 20 o @1 @
_2 3
24 6
5 1
AdEE =1 = -

ST fab e sifed 6 fas | yxt eed
E
=6x 6 =36 T H
& Yo 9 B Bl SHaber g1 B
24 % 36
36 — 24

24 % 36
12
=7fE=H

39, 249 o AN 4 A ve | § 9+

39,

40.

40.

41.

7, 47 T & (137 TR U O
wigr W ¥ | A el S A B wEe
w9 9 99 wd # B S, O T A
$aE e T S ?

A tank 9 m long, 4 m wide and (1/3) m
deepis dugina field 24 mlong and 14 m
wide. If earth dug out is evenly spread

out over the remaining field, the level of
the field will rise by :

(&) 458 M/em  (B) 3 ¥4/em

(C) 3598 /em (D) 4 ¥4 /em

(D) W 1 SR = (24 % 14 x ) T 4
& TR 2ok B Ak

= [9><4><%J = 12875

T ¥,
24x14 xh =12

12

k= ax14
1200

h=2ax14

h =357 ~ 499

I8 Fuy g9 W B9 2 o
59 &% 547 RANT T 99 FH: 3
AR SN gaT ¥ 7

The greatest number that divides 59 and

54 with remainders 3 and 5 respectively
is:

) 7 (B) 3
(O (D) 8
(A) HoH €7 e Wl = A E T
[(59-3), (54-5)]
=¥H.9.9 (56, 49)
-7
¥ 2011 7 79 B UM x Us & | 9 9y,
Y GETRIOT F =0T, 59 A= 7 10%
g & WRN &1 1 UseTT 9) bW a8 #
2011 <hl T A Ul bl TeAl &4 U i
50% @1feres B S 7
Mahesh had x number of trees in the year
2011. Every year, due to new plantation,
the number increased by 10%. In which
year will the number of trees become at

least 50% more than that in 2011, for the
first time ?

(A) 2017
(C) 2015

(B) 2016
(D) 2014

41. (B) - 2011 ¥ U<l & ¥ =«

g % =10%

EShl
xxX10xn

0 =
x Pl 50% 100

50x
= — =

100
—=p=5T9
a9 2016 H U B wE 50%
aiferas &1 S |

10x % rn
100

42. TH AT TYRY &9 2% R 399 A

42.

43.

43.

44.

% 4,200 AR 69 1 6,000 B TR E | T
X fepa=it & 7

A money amounts to ¥ 4,200 in 3 years
andto ¥ 6,001in 6 years at simple interest.
The rate of interest is :

1

(A) 20% (B) 12-%

(©) 30 % (D) 25%

PRT
(D)ifﬂ@l, SI= o0

PRx3
TeW T, 4200 -P=

oo (D
farirg ot
PRx6
100
TEERE (1) W T () ¥,
4200-P |
6000—P 2
= 6000 — P=8400 — 2P
= P=2400
1800 x 100
2400 % 3
=25%
TEelT 567 TGRS =i T T ATeq
foerr 8rm 7
For the first 567 natural numbers, the
arithmetic mean will be :
(A) 283.5 (B) 284
(C) 284.5 (D) 283
(B) 31¥ree R e

6000 -P =

LB = (AT (1) F)

n+l

2

567 +1
2

T =284

e T b SR <l FBran 7 I 3R faver
AR (TAC TET) 250 ¥ | 97 &7 T
foocir 8rm ?

TR | 11



A cone has its base radius as 7 cm and
slant height as 25c¢m. The volume of the
cone will be :

{A) 1232 e
{C) 1864 e

{B) 3696 cm®
(D) 2464 cm®

4. (A) TE B DHE = ,[(25) - (7)°

45.

43.

46.

12

h= [625— 49
h= /576

h=24cm

25 cm

7 cm

. 1
. T I AT = gm']h

22
><7><7><7><24

1
"3
=1232 cm?®
Tt west & 3 SF-H wen v
ol i = ¥ 7
Out the following numbers, which one is
not a perfect square ?

(A) 3136 (B) 12544
(C) 1296 (D) 28832
(D) 28832 e o7 T | 18 B |

ot fHifeea @rs W1 9, SKEW T POCY
@ w9 | forar T ¥ S dre W |
TYQV o ST SH—1 9155 foran e ?
In a certain code language, SKEW is

written as POCY. Which word will be
written as JYQYV in that code language?

(A) JUST
(C) LUST

(B) MUST
(D) HUSK

| AGRAWAL=XAMCART

46. (B) S 9o}, 35 p

K—450
E—=3C
w—2s v

13| P G N v
y—35 |y
v—23|T

T pre fomm T ¥ den 99w
T TOT RN B | o1 UEell Ui &
fawére uferar 4 |

47, fe=ly fAf¥=wg =re W 4, GRASP &/

INOPQ @ik BROWN @I RNSTU & w4
¥ ot T &1 SPARROW 1 99T &S
AT H 6 W forar wmgm?

In a certain code language, GRASP is
written as INOPQ and BROWN is written

as RNSTU. How will SPARROW be
written as in that code language?

(A) RSQGGSU  (B) QQONMOT
(C) PPONNSU (D) PQONNST

47. (D) 9 T,

——0
Ze—w

|

= =

n€——0O
—He——=
C€t——2=

m——
F=—)

5
-

<«
«—

|

48, Toferiae et ¥ { ?) &1 SivTe ulieeniia

& WA arell WEl $l T B |
22, 33, 66, 88,7
Select the number than can replace the

(?) in the following series.

22. 33, 66, 88, 7
(A) 84 (B) 97
(©) 115 (D) 165
48. (D) S 7 S@en 11 6 o7 3
11x2=22
11 x3=33
11 x6=66
11 x8=88
11x15=
& faw g fened] | 9 Baet dw@n
165, 11 =T oI &
49, G SN TR 71 U o bl Sl T2
B ohEl, a8 Higell A G bl 1l & WX
S FERE B TR DA N AT TS
fer areht wiften 9 o Weg % ?
Pointing at a portrait on the well, Madan
said, “That lady was the mother of the
daughter of the son-in-law of the father-
in-law of the mother of my son.” How is
Madan related to that lady in the portrait ?
(A) foar/Father
(B) ¥T1/Son
(C) ¥T$/Brother
(Dy ¥g/Father-in-law
49. (C)
ﬁf" €
7
e T w0

Ha, 99 HiEel Bl HE elEm |

50, fA=feriEa & & g &l 99— SINTT

Choose the odd one out :
(A) ¥9@u/Earthquakes

(B) T/ Volcanoes

(C) g1/ Tsunarmi

(D) T aueed gl (e g/
Global Warming

50. (D) 44, SAeTHE! 99 AR ST &

IS B TR fEhamd ¥ | STa s Yo
QT gHd st 21
a4



{1
NATHI =lH

1. % I RT F T T " BT
BRGNS
(A)S (B) o
&7 (D) 8
. STpENAAT feee o en 7
(A) g HaA  (B) Boll
(C) oIsge XA (D) eisgel wfay
. TS IR o W N e 6
IO H AR T T e
(A) 9T T IARS
(B) AT
(C) AT
(D) Raeurers
. Treferfiaa @ foem difse
TR T
1. Tem vgEr 4.  YRAEAH
2. RN gEEUEH b, e
3. famaE o HRgE
(A) 1-b, 2-a, 3-¢
{B) 1-c,2-b, 3-a

{C) 1-c,2-a,3-b
{D) 1-a,2-¢,3-b

. AN SET P TR e 9
e & P

(A) TWaIEAT  (B) TS
(C) TITB (D) FHET

6. ¥iTer gad SiaRe @ we Reg & ?
(A) feferer (B) 9TA®
(C) AT (D) TEAEEE

7. /1 A 9 e gimR e e 9
<aIfer o M7
(A) fafgews
(B) o<l
{C) YMHEA
(D) 7rTHee feita

8. . 5T} & IIER @M1 STgwoe
AR A 51 T Aedqul =g
®?

9.

10.

11.

12,

13.

14.

15.

Yfeq Ae-1

(A) og@g 21 (B) sijadg 24
(C) &g=0% 32 (D) aig@s 256
FRARAT BE Ao RS el
e @ A

(A) fepfeea g9

(B) TTcd oS HohiE od<

() fafesh garewa

(D) wifda faferaq dgaifie

PN bl A AT {berT s o7 ?
(A) S=aaAT dreT <4

(B) T¥E 59 9zH

() <wfelg g ey

(D) TONH =T
Trferias | 9 @M Uw Tig TRIE 2
(A) DIeled Vgl (B) #esid 1@
(Cy ¥ X Tt (D) gisa s

frferfigd 1 faerm ifse |
Rl il
IR ERICE] a. TeaH
2. WX b. ftsar
3. werRE c. Tehl
4. e d. Fama

(A) 1-d, 2-¢, 3-a, 4-b
{(B) 1-b, 2-d, 3-a, 4-c
{C) 1-c, 2-d, 3-b, 4-a
(D) 1-¢, 2-d, 3-a, 4-b

RTTg ¥ Sieet e, (el TIER o Teh
Tew 7

(A) ST (B) T

(C) g (D) &1

T ARSI @ T o E 7

(A) R 9% # Fal & SRM S
(B) oo~ ST

(C) HreHl o

(D) wfes IO

ARG & W few §91 @ wereiy W
q B ® ?
(A) WfFwT
(C) =R

(B) =Tt
(D) e

16.

17.

18.

19.

20.

21.

22,

HRT-2
GG CEI |
AE IR & e B a9 o g
e BT &7
(A) B S
(B) Fgd (1)
(C) SARM (¥FHS)
(D) w1 &1
Rkl eons Ao LA ErI]|
[ STeeaHT
I &=
1. &S & gl
(A) Sga (a1 (B) &g [T 111
(C) Haer 119 101 (D) 1, 1157 111 |9r
FecT & T fagia & SR, ware
BT JIEHTH HAUST BT ........... EZIn]
2
(A) &9 (B) w9
() arfire (D) ded
RO H CHAR AHS
(A) ms! (B) ms2
(C) ms? (D) m's

(A)TEr IR W ST B 7 SN gt
A B I &

(B) 38 75 ¥ =l BRI & AT T 4T
I B @R S

(C) T 91 9 T B ¥ S gwfey
TH 241 ST Il §

(D) & 777 | T 2R & i gt m
B A A AN SR '

frafofan § 9§ $9-1 e WEfrs

T 87

(A) @Y (B) @fst

Q) = (D) S

i g1 Age e YBIR ol Wt &2

I. IbEMe Agee Hud Aggse &
w7

1. e ygrel & sy 3

1. €Y argFsa 9 feran wman

I | 1



{A) Sger 194 11
(B) <hact e 111
(Cy haet I da 111
(DY I, 11797 1T =397

23. Frferfaa i @ Fr—an ~ffdoreiy w30

27

(A) WIH

(B) selagiT

(©) =gt

(D) S9ged 3§ | FE T
24. 9B AT &y

[ SfhT uresx wF e

I el orel Si=eres

M. 9 ¥ o & Aftdma & S\™H

B 31.

{A) @aa 9 I1
(B) @aal I9a III
(C) @9et 1199 111
(Dy I I 10 94
25, <ial
@1 fafdy Bl
(A) aifrereror (B) erieper
(C) T (D) TAfepaT
26. FFRINET A 9 fFod FRO awelE awl
BRI S ?
I. SO,
IL NO,

L. CO, 33.

(A) T9a I 991 1181
(B) haa [ aar [11 St
(C) g qar 111 [T
(D) I, 1192 101 955
27, <ol H gmeed 7 eI & aeaE

HT AT T E ? 34.

(A) 1:4 (B) 1:8
(C) 1:16 (D) 1:64

28. ufe wep g WE @ A gerdl 7 Sk
ST AT A AHITINIE A w9 9

T I1 g B O I B TR R 35.

HE AR 5
{(A) Wl T
(C) et
29. TS 9
(A) T g ¥ T BRI ¥ O o8 9
I ¥ W
(B) T A1 W WRT TRl ¥ ol S8 g
BUY Il B

(B) THEAH
(D) RN

2 | AGRAWAL =XAMCART

32.

........... I 36.

(C) T =@ | Tl BRI § o o A1
TR 9o &

(D) 74 =@l § 4 BN B o 39 Ay
A P SR ¥ IR E

3 TS & 99 [oa®y & 99 51D

G &b UGS B BRI

(A) T & AT

(B) REFATIIT

(C) & @ & SHehrigdri

(D) HHTuT

RT3

o
Ol ++/70++/121 =1 AM §—

(A) 11 (B) 12
(C) 9 (D) 10

1
ﬂﬁf’ﬁﬁfﬁ'ﬁ?a=ﬁ, b=— dRec=

e o B e 9 P W
87

11 15 13 11 13 15
@ FeE ® Fg<n

13 13 15 15 13 11
© Tw<y O gy
AMa= b= ZHAPTAY
B 2 A 6D G Rerg 48 3 ?
&) -2 ® -2

1

© 0 (D) -5
6-377 # TH ¥ TH T > A
STV TOTTETS] Y =T ¥
(A) 5 (B) 6
(@ 3 (D) 4
v o o, gl 4 Y %ﬂﬁaﬁsﬂl
Ig IS &1 fobeT uferer o 7
(A) 16% (B) 4%
(C) 40% (D) 24%

gf3 T800uv 3981 § vd T 600 UY 2 quf 4
T HIEROT ST Hgad w9 9@ T 1804,
d e ST T 7

(A) 5% (B) 7.5%

(C) 4% (D) 6.5%

37.

38.

39.

40.

41.

42.

43.

4.

45.

A TP FER & w9 H B F ST a5
RGN & a2 v @y ferew 9 fdr
T P 18 Al § g SR ORI §1 B S
@l @ srbal fbem A d gy ex
FEH 7

(A) 27 fem (B) 54 o1

() sefa (D) 68 &1

AABC @ ADEF ¥ 9@ AB=EF, BC=
DEJam CA=FD¥ @

(A) AABC =AEFD

(B) AABC =ADFE

(C) AABC = ADEF

(D) AABC =AFED

1= i
(A) 1000 (B) 100
(C) 10 (D) 10000
TP PR 19 F 65T T g, @ SE
¥ fomr i gt 7
(A) 360 (B) 330
(C) 350 (D) 325
475+ 950 64% =900+ A, ¥ AT
TN X ST T oA 7
(A) 183 (B) 233
(C) 1983 (D) ST ¥ H1g 8T
(520 2)-
5 3JU5 3
20 28 048 4b*
W =5 @ -
9g*  4p* 92" 4b7
(®)] 55 o (D) o5 "o
T T 0 G a2 + 24xy + 1632 T
TS Yl BRI
(A) 3x— 4?2
(B) 3x—4y
(C) 3x+4y?
(D) 3x+4y
TP AHEGYS & faepul 5 T ek 7 HE
¥ 5B GG T2 B
(A) 12 (B) 17.5
(C) 35 (D) 70
T 40 H o @Y 18 9 die amadieR

T Y 360 T3 el ¥ A @ 9
g H 5 WR @ A% ... LB

(A) 0.5 (B) 1
15 (D) 0.2



46. Al DAMSEL ®1 AEDLMS % %4 4 52
Tg fFw T &, @ VALOUR &1 fow
PR dedg (ol S ?

(A} AUVRLO  (B) AOULRV
(C)y AVUROL (D) AROUVL

47. 9% SER—THE g o [Eieiad SR
Y we—fog (7) o1 w2 @ 9 S
LIB, NIY, PHV, RGS, TFP, 2
(A) VEM (B) VEN
(C) WEM (D) VFM

48. Ule P+ Q@ aA EfF P, QP e &,
P+Q@H A P QI ¥ &R
PxQamaf EfF P QW WE &, @
freferfiad § & frger sl & f A, D
ElEIG TR R T S 15 I
(A) A~ExD
(B) F*A+ExD
(C) A+B+CxD
(D) AxE+BxC=+D

40, f=fafag § 9 o7 98 & TO

B L
(A} DVW (B) GST
€y JPQ (D) MNK

50. 95 AFed g fored a1 & <19 98 99y
8, Wil G Y ug g @ Wi E
T4
(A) TEYA : 5 (B) 99 © 9
(C) Wyt 7 (D) st = 8

A1
HMHT =4
1. (D) F Y& ARG F S w4l o 8T

TSI B | eTIe, TS Ay,
walvig, vEvs, ufdad s
=T, B 1

2. (A) HTT IMHE HPaX B axardl fage
&l Bolel - Sfepa-Ml feran |
W FEA | TB AFI F A Pre
# forar wn wrifor gfue &, w@ife
TS P gD Iga-41 Al b e
T A iR WEN FE! aE

4. (Q) war & —

YS! Ugd 1 | guf S aeY &
WY FY UEUN fHAr T E, ey
faferdt aix dniiferes SRR & fow
% Regwm ¥

3. () T SE-TTEES $ gma}e A

FASA @ WeAEw YHSH B
aEE A ey gfg @ @ B e
Y-HSAT TAA F ghg SRl W
S @ FEe e W iy 9
10 &R, 1997 T Setdrg aRad
TR T ARSI qeer garr, e
160 = & wiIHfEET = «r o
HRd & At eer st ey
= T w9eE 9 arenaT w=a
oS o & &7 | e MEEe & e
R I W 7 e foar
T e |

Bfager

T=T ﬂl}Iﬁ-IUQH — *Hdﬂlfg’-l"l
o =ar - %9%

5. (C) wrgdr Sifér dffelige & v gufig

A T FAS TN €1 g
e 7 A By el U
T gem 9u fean & o e &
AfemfEET s forg emewf =Rl B
80 &l 90 & Fws W g W &
T&=) Tqem ¥ vy sl e
TWiHE T & w9 # g
for w1d aoEw g Eiv
I ST B T WY, o
Y Q4 H Tge 91 T 15
g 1967 Yas F FIS yiNar i Argd
ST o = gan | e wew SifEm
3l I w1 T Sfde 6 e
YL <P U § Ehdex g99 e
& T wmHE e S v goE W F
LT T ST wET /A SRE
@1 gl Sl o 99 <1 v Rafdara B

6. (A) T g IRE B SeRee A

feerg &1

7. (A) TAfETHIS Teiv (Teearel 836§ —

885 ¥. %) URER 997 % 999 &
AT o | el ST 9918 39 -1
uy 9

8 (C) 9w |idg™ % sieos 32 @

. EEEY 7 NG 9egs @
ITAT FEI &1 TA SITWIT
saTig-wal=a =ararea "ifae
SHIYPIT bl ¥l &g 5 UbR @ R
TR HRAT E, A Hierd rftrep
I S HYE TEM fE S | |

(1) 41 FALNHE0T—8d ™ HIUw
(2) TART-HTeHE (3) wiaue—
TR (4) Seam-—afifand
(5) Sferp geoi—g3MarR=r (6) 37
el B =g @ FRAT FE Sl

9. (B) 9 ¥A%= 5 Tefear Her arel

10

12

13

14

15

st < wa oS fefdeas
TS 7 T FEE AME gEaRm
T o | o1g. <01, gaHEw + fam]
* wie # 9

. (B) S F ¥ AT ARG H e
T @ QO fotel & o= O e
e H yfafted ¥1 98 WRady &
gt g1 Afesl 7 9w Tl A
1984 A I 71 5 g R T
& &Y H w41 R | B $1 g
AT JRIE 39 YgM 1 SErn o)

. (D) uftea wvS wd @ guilig
AT MEH H W UF | gfvedel
B Gl AT BN W & | 5Te STt
HI B 3 Tl S e S uftea
ARTRE & S8 & T o #R
STH A TN 9 H1E ufved
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. (C) ITARE B TR N
TG 1 IR T WA & qE
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TIER T¥ TR e i & afw
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2000 el gUHET Wl & Wl SHd
APl T B | U e gl
& Th W AER g1 98 vl 9y
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. (A) RSN & TF UHR qoh18 SR
0 BRT 51T R a9 9
BdT &, w9 srefougven § adiw
FA-AT ST | i, anfeE g,
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arefaraven 1 T v £1
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T <=l e | STeree % A
T (40067 T HeE afere
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fav fageul & sgHIv @,
AT & o1 VT 29 8,
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<ier, veyffiae anfd |

18. (B) T=AY] fHT 4 wremor warel o T
B 31$ & T Iafe @ &
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TH—URA] WEF TF A TF A
Aftrs gerogig o Wiag ¥ e
#v gl =fFersii e #1
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AT A% § 2T B
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TIXUT hEd ¢ | 39 3raHeT | Fed &1
3@ S.1. A HieY ufa devel ¥
T e TF Hfaw I )
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TH-99 SHH 19 FH BT W
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I8 Su% & SRUAY FH BN &
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FHI FE 6
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IETT YT AT FEaArd £ |
TEEN0], UAE S 921 9N Sl
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22 (AyTel B OEE o () AR
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T el 9 U awd &

23. (B) ¥ifue fagmw &R e e o
~RFA = URHIRE it & i
# yyed Ul Bl el & | gep Alfep
R Te g TS e S0 e &

24. (D) 9T drer @ TEAfAE 9H difsaw
a1 PlEe ¥ | gHHl RIS g
NaHCO; Bl ¥ |

25. (D) Y~ TTiRRoT w1 O el
BEN T & ERiCal O System
Natureﬁﬁﬁﬁ%\%ﬁﬁﬂ'ﬂl‘fﬁq‘ﬁ
AT # fgmiera famam e

4 | AGRAWAL =XAMCART

26. (A) 3G 99T, TRplo® O | B ey
BRI ¥ | S PR B & [ argevsa
Y gufterg Wowe S5 JATRISS I
g SifTgs 4 oid & e
foomr wxa Efes a/ra AR Tud
< oI S 8 1Y R N 9gd
BAFHRE B B

27. (B) 9id H ®sgod &R sffedioT
SURYT BT & | O # wgge iR
diedoe @ SEHM @ STu
ATHT R 1 & B
wt. of 1 mole of hydrogen=1 gm

wt. of 1 mole of oxygen=16g
so water is 2H + 0

Rati Mass of 2H 2x1l 12
atio= —— 8 = ——=—
Mass of O 16 16

2:164911:8.
28. (B) 9 @Iy a5 fodl v wx v @i
I H TP G 997 F qewl &, U
TAH T FAM TR o
T W Tedl-aed ¥, ) 9% § 9T
RO P TS AT @0 FHEl ST % |
29. (D) TIZATSA ¥ SUE Y, T 97 W 9T
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30. (D) e & oy & FEwrgan:
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